
FW0044
0914
SUPERSEDES 
0611

CENTRIFUGAL PUMP REPAIR PARTS
"C211" & "C2000"SERIES - Discontinued Models

(For Pricing Refer To Repair Parts Price List)

SINGLE STAGE
C211 SERIES C2000 SERIES

HORSEPOWER 3 5 3 5
SINGLE PHASE C2114130 C2114150 C2131 C2151
THREE PHASE C2114330 C2214350 C2133 C2153

DESCRIPTION PART NO.
1
2
3

Mounting Ring
Seal
Impeller, Short Hub

N/A
129868
124993

N/A
129868
125090

N/A
134969
134971

N/A
134969
134972

4
5
▲
6

Gasket
Impeller Retainer
Short Key
Hex Hd. Cap Screws, S.S. 3/8 x 1"

124638
N/A

*
*

124638
N/A
N/A

*

124638
N/A
N/A

*

124638
N/A
N/A

*
7
▲
▲
8

Suction Assembly Flange w/Clearance Ring
Clearance Ring
Pipe Plug, 1/4" NPT
Hex Hd. Cap Screws, 3/8 x 1-1/4" (6)

N/A
125176

*
*

N/A
125176

*
*

N/A
125176

*
*

N/A
125176

*
*

9
10

Hex Hd. Cap Screws 3/8 x 1" (4)
Motor - 1 Phase
Motor - 3 Phase

*
N/A
N/A

*
N/A
N/A

*
134962
134965

*
134963
134966

TWO STAGE
C211 SERIES C2000 SERIES

HORSEPOWER 3 5 7-1/2 3 5 7-1/2
SINGLE PHASE C2116130 C2116150 - C2231 C2251 -
THREE PHASE C2116330 C2116350 C2116375 C2253 C2253 C2273

DESCRIPTION PART NO.
1
2
3

Mounting Ring
Seal
Impeller, Short Hub

N/A
129868
125061

N/A
129868
125063

N/A
129868
125091

N/A
134969
134973

N/A
134969
134974

N/A
134969
134975

4
▲
▲
▲

Gasket
Intermed. Stage Assy w/Clearance Rings
Impeller, Long Hub
Long Key

124638
N/A

125062
N/A

124638
N/A

125064
N/A

124638
N/A

125092
N/A

124638
134979
134980
134977

124638
134979
134981
134977

124638
134979
134982
134977

▲
7
▲
▲

Hex Hd. Cap Screw S.S. 3/8 x 1-1/2"
Suction Assy Flange w/Clearance Ring
Clearance Ring, Large
Clearange Ring, Small

*
N/A

125176
N/A

*
N/A

125176
N/A

*
N/A

125176
N/A

*
N/A

125176
134978

*
N/A

125176
134978

*
N/A

125176
134978

▲
9
8

10

Pipe Plug, 1/4" NPT
Hex Hd. Cap Screw 3/8 x 1" (4)
Hex Hd. Cap Screw 3/8 x 3-1/4" (6)
Motor - 1 Phase
Motor - 3 Phase

*
*
*

N/A
N/A

*
*
*

N/A
N/A

*
*
*

N/A
N/A

*
*
*

134962
134965

*
*
*

134963
134966

*
*
*
-

134967
(*)     Standard hardware Item
(N/A) Not available
(▲)   Not shown

IL0562
89

5
4

7

6
3

2

110


